
(6) SA1-0003 - Wall Joint
(60) PC-000102 - Rivet

SA1-0005 - Right
Door Panel

See Front Assembly Exploded View

PC-000490 - T.P. Dispenser
PC-000760 - Rod
PC-000205M - Lock
(4) PC-000100 - Rivet
(4) PC-000106 - Washer

SA1-0009S - Plastic Grab Bar (Small)
(6) PC-000105 - Rivet

SA1-0019 - Vent Tank Exhaust
(6) PC-000105 - Rivet

(6) PC-000106 - Washer

SA1-0010C - ADA Tank Complete
(4) PC-000103 - Rivet
(6) PC-000104 - Rivet
(6) PC-000105 - Rivet
(10) PC-000106 - Washer
PC-000204 - Toilet Seat
SG1-0022G - Seat Base

SA1-0004 - Left
Door Panel

Panel 2
Panel 3

Panel 5

Panel 4

Panel 1

SA1-0008 - Roof
(12) PC-000103 - Rivet
(12) PC-000106 - Washer
(22) PC-000121 - Washer

(5) SG1-0035 - Fly Screen
(5) PC-000102 - Rivet
(5) PC-000106 - Washer

(5) SA1-0002 - Side Panel
(25) PC-000117 - Rivet
(25) PC-000121 - Washer

(6) SG1-0041 - Tie Down Ring
(6) PC-000168 - Washer Flat 5/16” X 7/8”
(6) PC-000194 - Bolt - 5/16” X 3" Hx. Hd. S.S.

**NOT SHOWN 
SA1-0025 Seal - ADA  Base Surround
PT01-2000 - Short Toilet Tug-A-Long (Pair)

SA1-0009L - Plastic Grab Bar (Large)
(6) PC-000105 - Rivet

(2) SA1-0009U - Plastic Grab Bar Support
(2) PC-000158 - Screw
(8) PC-000147 - Screw

http://www.polyjohn.com/sa1-0025/
http://www.polyjohn.com/sa1-0019/
http://www.polyjohn.com/pc-000105/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000105/
http://www.polyjohn.com/sa1-0003/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/sa1-0005/
http://www.polyjohn.com/sa1-0004/
http://www.polyjohn.com/pc-000490/
http://www.polyjohn.com/pc-000760/
http://www.polyjohn.com/pc-000205m/
http://www.polyjohn.com/pc-000100/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/ada-main-tank-complete/
http://www.polyjohn.com/pc-000103/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000105/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000204/
http://www.polyjohn.com/sg1-0022g/
http://www.polyjohn.com/pc-000168/
http://www.polyjohn.com/pc-000194/
http://www.polyjohn.com/screw-self-tap-10x1-5-oval-hd/
http://www.polyjohn.com/pc-000147/
http://www.polyjohn.com/pc-000105/
http://www.polyjohn.com/washer-fender-1/4-x-1-1/4-/
http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/sa1-0002t/
http://www.polyjohn.com/washer-fender-1/4-x-1-1/4-/
http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/sg1-0035/
http://www.polyjohn.com/washer-fender-1/4-x-1-1/4-/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000103/


SA1-0015 - ADA Slide Latch Cover Plate
(4) PC-000105 - Rivet

SA1-0006 - ADA Door Jamb
PC-100788 - Serial I.D. Plate
(14) PC-000104 - Rivet
(2) PC-000108 - Rivet

SA1-0017A - Handle Aluminum Latch
(2) PC-000166 - Screw
(2) PC-000106 - Washer

SA1-0021 - ADA Sign
(4) PC-000102 - Rivet
(4) PC-000106 - Washer

SA1-0014 - ADA Slide Latch
PC-100780 - Decal Occupancy

(2) SA1-0013 - ADA Door Frame
(2) SA1-0022 - ADA Door U-Joint
(28) PC-000102 - Rivet

SA1-0007 - ADA Door Panel

SA1-0018 - ADA Door Handle
(4) PC-000117 - Rivet

FS1-0034G - Door Panel Cover
SG1-0032 - Slide Plate Retain

(6) PC-000163 - Screw

PC-000800 - Spring
PC-000181 - Cable Clip

(2) PC-000104 - Rivet

(4) PC-100171 - Hinge ADA Assembly
(28) PC-000102 - Rivet

PC-100190 - Closure Ryobi 
SA1-0050 - Closer Bracket
(4) PC-000102 - Rivet
(2) PC-000106 - Washer
(4) PC-000104 - Rivet

**NOT SHOWN
(5) PC-100173 - Rubber Silencers
(1) PC-000200 - Cable Door Check
(3) PC-000104 - Rivet
(1) PC-000168 - Washer
(2) PC-000106 - Washer

http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/complete-spring-tube-assembly/
http://www.polyjohn.com/pc-000181s/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/door-panel-cover-fleet-pewter/
http://www.polyjohn.com/slide-plate-unisex/
http://www.polyjohn.com/pc-000117/
http://www.polyjohn.com/sa1-0007c/
http://www.polyjohn.com/pc-100173/
http://www.polyjohn.com/pc-000200/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/pc-000168/
-+
http://www.polyjohn.com/ada-door-frame/
http://www.polyjohn.com/ada-door-u-joint/
http://www.polyjohn.com/pc-000102/
SA1-0014
http://www.polyjohn.com/pc-100780/
http://www.polyjohn.com/sa1-0017a/
http://www.polyjohn.com/pc-000166/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/sa1-0015/
http://www.polyjohn.com/pc-000105/
http://www.polyjohn.com/ada-door-jamb/
http://www.polyjohn.com/pc-100788/
http://www.polyjohn.com/pc-000104/
http://www.polyjohn.com/rivet-602-small-flange/
http://www.polyjohn.com/ada-sign/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/door-closer-u-bracket/
http://www.polyjohn.com/pc-000102/
http://www.polyjohn.com/pc-000106/
http://www.polyjohn.com/pc-000104/



